6.7 Financial Modeling
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EX: A credit union pays interest of 4% per annum
compounded quarterly on a certain savings plan.
If $2000 is deposited in such a plan and the
interest is left to accumulate, how much is in the
account after 1 year?
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Will you get the same answer if you use Simple
Interest formula for each period and if you use
the Compound Interest Formula? £

Can you see why you would want to use the
Compound Interest Formula?
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EX: Which of the following yields the greatest
value, if $1000 is invested at an annual rate of
10% compounded by the following periods:
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EX: Find the amount A that results from investing
a principal P of $2000 at an annual rate r of 8%

compounded continuously for a time ¢ of 1 year.
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Effective Rate of Return
OR Effective Rate of Interest

These two phrases mean the same thing.

It basically means:“What would the simple
interest rate have to be to earn the same amount
as with compound interest (in 1 year)

! P =000
EX: Suppose that you have $1000.and a bank

offers to pay you 3% annual interest on a savings

account with interest compounded monthly. In
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EX: Suppose you want to open a money market
account. You visit three banks to determine their
money market rates. Bank A offers you 4%
annual interest compounded @, Bank B offers
you 4.1% compounded monthly, and Bank C
offers 3.95% compounded continuously.
Determine which bank is OT'Mest deal.
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EX: What annual ra@)f interest compounded
quarterly should you seek if you want to double
your investment in 6 years?
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